Name ID
MATH 251 Quiz 7 Fall 2005
Sections 503 P. Yasskin

Multiple Choice: (4 points each)

1. (4 points) If F = (xsiny,zcosy,x? +z?), compute V.F.

® 20T

(siny,—zsiny,2z)
(—cosy,—2x,—xcosy)
(—cosy,2x,—xcosy)
—COosy — 2x —XCOosy
siny —zsiny + 2z

2. (4 points) If F = (xsiny,zcosy,x? +z2), compute V x F.

® 20T

3. (4 points) If F = (xsiny,zcosy,x? +22), compute V -

® 20T

(siny,—zsiny,2z)
(—cosy,—2x,—xcosy)
(—cosy,2x,—xcosy)
—COosy — 2x —XCOosy
siny —zsiny + 2z

. 0 Correct Choice

—zcosy + 2

zcosy +2
(xsiny,—cosy,—2 —siny)
(xsiny,cosy,—2 — siny)

- -

V xF.

1-3 /12
4 /8
5 /8

Total 128




4. (8 points) Compute le?dg over the sphere x? +y?+z? = 4 with an outward normal

for the vector field F = (3x,3y,62).

Note: The sphere may be parametrized by I_é(Q,(p) = (2sin@cosh,2sin@sind,2cos@).
Follow these steps:

€ = ?‘(13(9,@)) =
2, =
N = F.N=

5. (8 points) Compute J‘J‘_V) x FdS overthe cone z = /i’ +y? for z <3 with normal
pointing up and in, for the vector field F = (3y,—3x,6xy).

Note: The cone may be parametrized by ié(r,@) = (rcos@,rsin6,r). Follow these steps:

—

er = %xF:

N
ey =

N

V x ﬁ(ﬁ(r,@)) =

<
X
il
>
Il



